[ kbl ggre 2 A2 da 2L

189] 291283 : [2)x[3]x[ ]
249 2915838 : [2)x[ |x[2]x[3]
Aok [2)x[ ]

D 21,2 @233 ®312 @322 3,23



b 2Fe AAUSe] Lyl Ao Yt BEEE 2Afste] &
24 91o] b Zloltk, BESHA LASE g%, PR 27A
re WEET} 44

A

=~




op



k)
oo
B
i

T 7R 9] 50 FE AlAtsto] At = Adejet,
) | ) | () | () | (1)
(=3 () | () | (+2) | (+2)
(2 [ (2 |+ | (1) | (1
(1) | (1) | (1) | (+3) ]| (-29)




5.

Oha B7] § dd4s BF A8 A2?

H7]
@ a O 3x+b © -3
® ba+5 @ x*-1

0,60 006 006 ®6,6

® 6,0




6. Al AAFA, 285x7, 52x7? 9 HAFHFTF 23 x52x 72 D uf, A
2ol B 5 Gt T AU A4S BF Hohu?

O 23 @ 25 ® 27 @ 29 ® 31



todzt.

<]

o, 4] < 3 1 2] N8 A

E:As

o

A o] AdighE Al 2t

7.

A



H7tx =14 o, a o] Go=

6]

ax+2=x-329

® 4

@ 3



7b2, A2 Zol7k 247t em, sem & AAZEFol k., 7H= S
593, A2E 2em FAEY Holrk 42em? b HUE ), 7Hze)
golg Fotu?

@D 4cm @ 5cm ® 6cm @ Tcm ® 8cm



O 100m

2ol gy

@ 300m

2.5km o g wb o] el

]_
. @zre] 4ol x(m) Bt T uf dxto

@ 500m @ 700m & 900m



& A, B ] tiste] B o 29Agk2?

® 6

@ 8

® 14



12.

|

=

o]
=

a

A4 A, B 9] H5 o 9, 2 AFul5= 360 0|1, A4+B = 117

Z
i, A - B S Fstefet (2 A > B)

L



4x-5 bx-—-7

5x—3




14.



15.

SR Eo] A5 F AES A et g HAJo] 2000 94 WHHA

4000 Qo] ®Atetar 2200 YA WA 2800 Yol H=tt. st £E5 x 2t
o off, B A& HEE2 A Al 2127

@® 2000x — 4000 = 2200x — 2800
@ 2000x + 4000 = 2200x — 2800
® 2000x + 4000 = 2200x + 2800
@ 2000x — 4000 = 2200x + 2800

® 2200x — 2000x = 4000 — 2800



